Pattern
Pram chain
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YARN
Colourful FRAYA
100% cotton - 50 g =170 m

YARN USAGE

Elephant pram chain L40 cm 100g

Mounting of safety eyes

o, —
o/ €3

PRAM CHAIN

Elephants and balls are crocheted
with 2 threads.

ELEPHANT (4 X)

1) 15 sl st (15)
2) 2minthe 2.st,13dc,1t-ch (15)
3) 14 dc,1dcinc, 1t-ch (16)
4) 1dcinc,15dc,1t-ch (17)
5) 16 dc,1dcinc, 1t-ch (18)
6.) 1dcinc,17 dc, 1t-ch (19)
7) 18 dc,1dcinc, 1t-ch (20)
8.-11) 16 dc,1t-ch (16)
12) 16 dc, 5 sl st (21)
13)) Start in the 2. st on the sl st-chain,

20dc,1t-ch (20)
14.-17)  20dc,1t-ch (20)
18.-19) 14dc,1t-ch (14)
20.) 14 dc,7 sl st (21
21) Start in the 2. st on the sl st-chainn,

18 dc, 2 dc tog, 1t-ch (19)
22) 2 dctog, 17 dc,1t-ch (18)
23) 16 dc, 2 dc tog (17)

Close off and use the rest of the yarn to sew the two
parts together.

MATERIALS

Eyes: 2 pairs 5 mm

Wooden beads: 6 pcs 20 mm
Elastic string 1 meter

Ring link: 2 pcs D60 cm
Filling

Crochet hook: 2,5 - 3,0 mm

Gauge: 24 m/10 cm

The given amounts of yarn are for guidance only.

1) mr with 5 dc, t-ch (5)
2) “1dcinc*x5,t-ch (10)
3) *1dc,1dc udt*x 5,t-ch (15)
4) *2dc,1dc udt* x5 (20)

Close off and use the rest of the yarn to sew the ears

TAIL

Make a loop from a 40 cm piece of yarn. Pass the

needle under a stitch on the back of the elephant,
insert the needle into the loop and pull it through.

Pull the yarn through the loop and then crochet 10
sl st. Break the yarn and pull the last stitch to form
aknot.

Shape the head and eye socket:

Thread approximately 25 cm of yarn. The needle is
inserted under the chin and up at the inside of the
eye. A stitch is sewn over and the needle is brought
out below the chin. Tighten the thread so that the
pressure forms a depression above the eye. To keep
the pressure on the indentation, sew through a few
stitches below the chin. The socket on one eye is
now finished.

FRAYAG063

ABBREVATIONS
AND DEFINITIONS (UK TERMS)
st(s) Stitch(es)

mr Magic ring

sl st Slip stitch

t-ch Crochet 1 ch, turn work
dc Double crochet

1dcinc Increase (2 dcin one st)

Decrease (2 dc worked together)

The instructions shown between

these stars must be repeated for the
whole round/row or with the number
indicated after x.

() At the end of the round/row

- indicates the total number of stitches.

2 dc tog

BALLS (3X)

1) mr with 6 dc (6)
2) *1dcinc*x 6 (12)
3) *1dcinc,1dc*x 6 (18)
4) *1dcinc,2dc*x 6 (24)
5.-6)  24dc (24)
7) *2dctog,2dc*x6 (18)
8) *2dctog,1dc*x 6 (12)
9) *2 dctog*x 6 (6)
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